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 � ����
� �� ��
� ������
 ������
� �����
� �
 ���
��! �
"�����
���# ��$�����
��%��# �
��!�% 
� ��������
� "�#
���
� & ��������'
��
� �������
� ������
� (�� )� �� �*+� ,�������
 ����- �����
 & ������ �
�
#��
 �����
� �
 �
 Sh ≡ { (t, x) : t ∈ (0, h), x ∈ R}� �� h > 0� ��! �
��!��! �������%
��� �� [

∂2

∂t2
− a2

∂2

∂x2

]
U(t, x) = 0, a ∈ R\{0},

U(0, x) = ϕ1(x), U(h, x) = ϕ2(x).

.�/

0��������
��% �����
 .�/ � 
���1&�%�! ����
"���� ��
� �� !��� �
&- �����
�
����� 
��2��� ������
��%��# ����3!��
� �
�"��
���- �����
���- �����
[

∂2

∂t2
− a2

∂2

∂x2

]
U(t, x) = 0, U(0, x) = U(h, x) = 0, .)/

�� & "���2�%�1� 0�����
��%��
� ����3!���
� �����
 .)/ &� ��"������� $ ���
-
����!� 

Uk(t, x) = sin
πkt

h
sin

πkx

ah
, k ∈ N. .4/
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 �����
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 �����

� ����
������
 ��"�
/� !�
 #��������� 1�%�! ����3!���
� � "����1 "����
���1 ��
����
��������
� 5��
 �����
 
�1�% ��6� ����
��%��� ����3!����

,������ ���� "������ 
�� ����! ������
��%��# ����3!��
� .4/ �����
 .)/ ��
�'
���% "�� ��� �� �
 ���
���� !��� �����
 

��!�%�!  ����
 ����
"��
��

�� 7����
��
��2� $ ���
1 � $��
 �� .4/ ��! k ∈ N 
�2�� ��������� ����
"��
��
�


Uk(t, x) =
1

4
e

iπ
ah (at−x) +

1

4
e−

iπ
ah (at−x) − 1

4
e

iπ
ah (at+x) − 1

4
e−

iπ
ah (at+x), i2 = −1.

8�2�� ��2����
 & "�����! ����
�2���! ����3!��
� �����
���- �����
 �
�
#��
 �����
� �
 �
 ��! ��$�����
��%���� �
��!��! � ��������
� "�#
���
� �� ����
"��!�� �� ����
 
 ������
 ����
�������� "��!�� �� "���������1 �

���1 �
 ���'
��
� ���$
�
&���
�� !�� !� ��������� ��"���� 

����% �
��!��! �������% ��� ���
������'9������':���� �������$�� �
��!��!� �
��!��! ;�"����� ����
- "� 2����
 ��

�� � ��"��� 
�� ����! ������
��%��# ����3!��
� �����
���- �����
 ��! -#�%�- "�� '
���� ���������&
� ��$�����
��%��'��
���%��� 
���� (�� <+ ����3!� ����! ����� ��!
�
��!�% 
� ��������
� "�#
���
�� �� ��" ���1�% �
�����
����! �

���#� � ����2

��1 ���� �����������! ��! "�� ���� ���
���
� !��� �����
 � �������%��1  
���1�
��"��"������ � (=+� ����
�2���1 �������- �����
  �
 �
 ��! ��$�����
��%���� �
�'
�!��! � ��������
� "�#
���
� �� ��"�
���1 ��$�����
��%��'��
���%���� 
���� 
"����!���� ����2 "���! (>+�

�� 	
���
������ ������� ?��� ��6�- "���
 @ ����
�2���!  �
 �
 Sh 
��'
2��� ����3!��
� U = U(t, x) �����
 �
�
#��

L

(
∂

∂t
,
∂

∂x

)
U ≡ ∂2U

∂t2
+ 2a

(
∂

∂x

)
∂U

∂t
+ b

(
∂

∂x

)
U = 0, .=/

U(0, x) = U(h, x) = 0, .�/

�� a
(

∂
∂x

)
, b
(

∂
∂x

)
@ ��$�����
��%�
 ������ �
 �����
� ���$
�
&���
�� ��
����
�

!��# & ���
�%�
 �
�
 $ ���
- a = a(ν), b = b(ν)�

6����7���� �� �
1 ��$�����
��%���� ����� b
(

∂
∂x

)
� �
��
 ��
����


b (ν) =

∞∑
j=0

bjν
j , bj ∈ C,

�� ����
������ ��$�����
���� �� R $ ���
1 U ��� 

&
� ���A b
(

∂
∂x

)
U ≡

∞∑
j=0

bj
∂jU
∂xj �

B���3!���
 �����
 .=/� .�/ ���2�&
� �
� $ ���
1

U =
∑

k0+k1≥0

uk0k1t
k0xk1 , k0, k1 ∈ N ∪ {0}, uk0k1 ∈ C,

�

���# t 
 x� !�� �������%�!& �
��!��! .=/ ��  
��� �
�
#�� .�/�

8�������� �� ������ .=/� .�/ 
�& ����
��%��� ����3!���� 7�����
�  
��� 
�� '
����! ��6� ����
��%���� ����3!�� �����
 .=/� .�/� � ����2 �������
� ���
���� !���
�����
 .=/� .�/ 
� �� ��2����� "�� � &
� �
 ���
���� �� "
�����
 ��$�����
��%��'
��
���%���� 
���� � !���
 ����!�
  ��"��� ������
��%���� !����
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	��� 89:�;�:�
��� :�<�=
 >
�
�?�� B����!��
� �������� ��$�����
��%�� �
��!�'
�!

L

(
d

dt
, ν

)
T (t, ν) ≡

(
d2

dt2
+ 2a(ν)

d

dt
+ b(ν)

)
T (t, ν) = 0, .</

!�� "�� ������ �� "
�����
 �
��!��! .=/�
0�#�� pa �� pb @ ���"��
 "��
��

� a = a(ν) �� b = b(ν)� !��� 2 a �� & "��
��
�
�

�� pa = ∞� ������
��� ��! $ ���
- b�
C��
���� ���
��%��- � ����
 t = 0 $ ���
�����%��- �����
� ����3!��
� �
��!�'

�! .</ ��� ��1�% ����!� 

T0(t, ν) = e−a(ν)t

⎧⎨
⎩a(ν)

sh
[
t
√
D(ν)

]
√
D(ν)

+ ch
[
t
√
D(ν)

]⎫⎬
⎭ ,

T1(t, ν) = e−a(ν)t
sh
[
t
√
D(ν)

]
√
D(ν)

,

�� D(ν) = a2(ν) − b(ν)� "����
 4D(ν) @ ������

���� "��
��
�

L(λ, ν) = λ2 + 2a(ν)λ+ b(ν).

7����
�� !��� ν0 @ � �% $ ���
- D(ν)� ��

T0(t, ν0) = e−a(ν0)t {a(ν0)t+ 1} , T1(t, ν0) = te−a(ν0)t.

8��
�%�� �� "��" ����!
 a(ν), b(ν) @ �
�
 $ ���
-� �� �� �����
�1 , ������ .(���
�� ��+/ $ ���
- T0(t, ν), T1(t, ν) & �
��
� $ ���
!
� �������� "���
���� ν� 0����

��2����
 � �� �� � "��!��� p �
��# �������� ν $ ���
� T0(t, ν), T1(t, ν)� !���
�������1�% .(4� �� >4+/ �� $��
 ��1 p = max {pa, pb/2}� D��� a(ν), b(ν) @ "��
��
��
�� p <∞� 
 p = ∞� !��� a(ν) ��� b(ν) �� & "��
��
�
�

	
�"��
��� �� ��$�����
��%��'��
���%���� 
���� .(�� �� �*<+/ ��"�6�
� �

31
$��
��%��# ����3!��
� �
��!��! .=/� ����� �

31 $��
��%��# �!�
�� !�
 �������%'
�!1�% .=/

U(t, x) = ϕ

(
∂

∂ν

)
{T0(t, ν)eνx}

∣∣∣∣
ν=0

+ ψ

(
∂

∂ν

)
{T1(t, ν)eνx}

∣∣∣∣
ν=0

, .�/

�� ϕ
(

∂
∂ν

)
, ψ
(

∂
∂ν

)
@ ��$�����
��%�
 ������ � �
��
� ��
����
�� !�
 "
�����&
� ����

��� �
��
��% .�/ ��������� ����3!��� �����
 .=/� .�/�
E"����� �������%�!&
� "��6  
�� .�/� 8��
�%�� T0(0, ν) = 1, T1(0, ν) = 0�

��

U(0, x) = ϕ

(
∂

∂ν

)
{eνx}

∣∣∣∣
ν=0

= ϕ(x) = 0.

8�2�� $��
��%�
 ����3!��� �
��!��! .=/� �� �"����2 1�%  
�� U(0, x) = 0�
�� $��
 ��1 .�/� ��� ��1�% ����!� 

U(t, x) = ψ

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=0

. .>/
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

7������%�!1�� �� �  
�� U(h, x) = 0� ����2 &
� ��! ����� $ ���
- ψ
����2�
��%

ψ

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=0

≡ 0. .�/

B����!��
� ��� 
�2���
 ��"�����
������ �����
� D(ν) ≡ D = const� 5��
 b(ν) = a2(ν)−D� �
��!��! .=/ ��� ��&

����!� [
∂

∂t
+ a

(
∂

∂x

)]2
U = DU,

� ����2�
��% .�/ & ����1A

sh
[
h
√
D
]

√
D

ψ

(
∂

∂ν

){
e−a(ν)h+νx

}∣∣∣∣
ν=0

≡ 0. .�*/

D��� ����� &�%�! ���
��
��% h
√
D �= πki ��! ��
# k ∈ Z\{0}� ����� sh[h

√
D]√

D
�= 0�

�� ����2 &
� ψ
(

∂
∂ν

) {
e−a(ν)h+νx

}∣∣
ν=0

≡ 0� : ���
!

V (t, x) = ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

& ����3!���
 �����
 ��6
 ��! �����
����� �
��!��! ∂V
∂t + a

(
∂
∂x

)
V = 0 � �����
�'

��1 "��������1  
���1 V (h, x) = 0� ��
 ����!�� &������
 ����3!�� �����
 ��6

����2 &
�� �� V (t, x) ≡ 0 � ������
 Sh� 7����
�� "�� t = 0 ����
�&
�

V (0, x) = ψ

(
∂

∂ν

)
{eνx}

∣∣∣∣
ν=0

= ψ(x) = 0.

8�2��  �%�
 ���
 �� $��
 ��1 .>/ ����2 &
� ��6� ����
��%��� ����3!��� �����

.=/� .�/�

D��� 2 ��! !�����% k ∈ N ����� &�%�! �
��
��%

h
√
D = ± πki, .��/

�� sh
[
h
√
D
]
= 0� ����2�
��% .�*/ �"����2 &�%�!� $��
��%�
 ����3!��� �����
 .=/�

.�/ ��� ��1�% ����!� .>/� � ��
�

Uk(t, x) =
sin (πkt/h)

πk/h
ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

, k ∈ N. .�)/

B���3!��� .�)/ � � �% $�������
� ����3!���
� �����
 .=/� .�/� !��� ���� &
�
��
� $ ���
!
� �

���# t �� x� F� �"����2 &�%�! ��! ���
�%��- �
��- $ ���
-
ψ(x)� "��!��� q !��- 
�& ���
 ��
�2���! .(�+� �� 4�</A

�/ q = 1� !��� a(ν) �� & "��
��
�
 (pa = ∞) G
)/ 1 < q < pa

pa−1 ≤ 2� !��� 2 ≤ pa <∞G
4/ q ≥ 0� !��� pa ≤ 1� ����� a(ν) @ �
�
��� $ ���
!�
��! �
�
���- $ ���
- a(ν) = Aν +B� �� A, B ∈ C� ����
 &
�

ψ

(
∂

∂ν

){
e−a(ν)t+νx

}∣∣∣∣
ν=0

= e−Btψ

(
∂

∂ν

){
eν(x−At)

}∣∣∣∣
ν=0

= e−Btψ (x−At)
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 � $��
 �� .�)/ ����2 &
�

Uk(t, x) =
sin (πkt/h)

πk/h
e−Btψ (x−At) , k ∈ N. .�4/

� $��
 �
 .�4/ ��
�& �"����
- ��$�����
1����!� ��
 �� $ ���
1 ψ �������%�
��!�� ���
�%� ��
�
 ��"������� ��$�����
���� �� R $ ���
1� D��� ψ = ψ(x) @
����
"��
��
� �� Uk(t, x)� k ∈ N� ����2 ����
"��
��
� �� �

���
� t �� x�

8�2��  ��"��� ������� ������

����� ������ .=/� .�/ 
�& ����
��%��� ����3!'
���� !��� D �= − (kπ/h)

2
, k ∈ N� ��� 
�& ����
��������

��� !���� �� �����'

��&�%�! �����
 �
��# $ ���
� ��!���� "��!�� ��! ���������- �
�%����
 ������%
D = − (kπ/h)

2
, k ∈ N�

����
�� �� B���3!���� � ������
 Sπ �����
 �
�
#��[
∂2

∂t2
± 2

∂2

∂t∂x
+

(
∂2

∂x2
+ 1

)]
U(t, x) = 0, t ∈ (0, π), x ∈ R,

U(0, x) = U(π, x) = 0, x ∈ R.

.�=/

� ���
 �����
 & ������
� .=/� .�/� � !��# a(ν) = ± ν, b(ν) = ν2 + 1, h = π�
D(ν) = D = −1� �
��� .��/ ����� &�%�! ��! k = ± 1� B���3!��� �����
 .�=/ ��
$��
 ��1 .�4/ ��� ��1�% ����!� 

U(t, x) = ψ(x ∓ t) sin t,

�� ψ @ ���
�%�� ��
�
 ��"������� ��$�����
����� $ ���
!� D��� ����� .�=/ & ����
�'
�������

���
�� �

����
�� �� B���3!���� � ������
 S1 ����� �
�
#�� ��! �
����������� �
��!��![
∂

∂t
− a2

∂2

∂x2

]2
U(t, x) = 0, t ∈ (0, 1), x ∈ R, a ∈ R\{0},

U(0, x) = U(1, x) = 0, x ∈ R.

� 8���
��� a(ν) = −a2ν2, b(ν) = a4ν4, h = 1, D(ν) ≡ D = 0� 8�2�� ������

�& ��6� � �%���� ����3!���� ����� !��� �����
 ����
��%��� �

������ �����
� D(ν) �= const� B����!��
� 
��2�� 

M =

⎧⎨
⎩ν ∈ C :

sh
[
h
√
D(ν)

]
√
D(ν)

= 0

⎫⎬
⎭ , .��/

!�� & ��3&�����!
 �� ��� ���%��
 "���
����
 k 
��2�� � �
� �
��# $ ���
�
Dk(ν) ≡ h2D(ν) + k2π2�

?��2���M !� 
��2��� � �
� �
��- $ ���
-
sh

[
h
√

D(ν)
]

√
D(ν)

 �%�
 ��"��� ����'

��&�%�! � ����
������- �
�%����
 �
�

���# 

2 ����1 � �
� γ1, γ2, . . . �
�"��
���
��
������# ���������� pγ1 , pγ2 , . . .� "����
 | γn | → +∞ "�� n → +∞� 8��������
�� γj & � ��
 ��������
 pγj $ ���
- Dk � ��!��
 ��
���
 k = k(γj)� & � ��
 ����'
����
 pγj −1 $ ���
- dD

dν � �� ��"����& � �
������� "�#
���# dsDk

dνs = h2 dsD
dνs ��! s ∈ N�


 �� & � ��
 $ ���
- D�



(+
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��
���� �� @���A B���C
� ψ(x), x ∈ RD E ���:
�9?
�9�9� ��F?�<�

ψ(x) =

m∑
j=1

Qj(x)e
αjx, degQj(x) = nj ≤ pαj − 1, .�</

� ��9�� α1, α2, . . . , αm ∈ M D Qj(x) " �9?
�9�� : �9��?������� �9�B
C
E�����
������
� nj ≤ pαj − 1, j = 1,mD m ∈ N� G9<
 B���C
� H�ID �9J�9

U(t, x) =

m∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

, .��/

E �9:�;�:�9� :�<�=
 H
ID H!I� @������D ��K9 �9:�;�:9� U(t, x) :�<�=
 H
ID H!I E ���:
�

�9?
�9�9�D �9J�9 U(t, x) =
m∑
j=1

N∑
l=1

Plj (t, x) e
βlt+αjxD <� m,N ∈ ND Plj (t, x) " �9�

?
�9�� :�
���� t �� x : �9��?������� �9�B
C
E����� ������� nj :� :�
��9L

xD βl, αj ∈ CD βr �= βl <?� r �= l, r, l = 1, N D αk �= αj <?� k �= j, k, j = 1,mD
�9 αj ∈ M, nj < pαj <?� j = 1,m 
 C�A �9:�;�:9� ��J�� ��F?�<� H��ID � ��9��

Qj(x) =
N∑
l=1

(
βjPlj(0, x) +

∂Plj

∂t (0, x)
)
�

>9��<����� � � � � � � � 
 � � %� 0�#�� ψ(x) @ $ ���
! ����!� .�</� 5��
 $ ���
!
.>/� ��������� & ����3!���
 �
��!��! .=/ 
 ����� &�%�!  
��� U(0, x) = 0� : ���
1
.>/ ��! ����
"��
��
� .�</ 
�2�� ��"�����  ����!�
 .��/ 


U(h, x) =

m∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

. .�>/

8��
�%�� α1, α2, . . . , αm ∈M � ��
sh

[
h
√

D(αj)
]

√
D(αj)

= 0 


∂k

∂νk

⎡
⎣e−a(ν)h+νx

sh
[
h
√
D(ν)

]
√
D(ν)

⎤
⎦
∣∣∣∣∣∣
ν=αj

= 0

��! k = 1, pαj − 1, j = 1,m� 5�
  �
 ������� � �
�����
 .�>/ ����2�� ���
��11�%
� ���
�

0 � � � # 
 � � 
 � � %� ,��" ���
�� �� ����3!���
 �����
 .=/� .�/ & ����
"��
��


����!� U(t, x) =
m∑
j=1

N∑
l=1

Plj (t, x) e
βlt+αjx� ,������
� ∂U

∂t

∣∣
t=0

= ψ(x)� 5��
 ψ(x) &

����
"��
��
�
 ����!� ψ(x) =
m∑
j=1

Qj(x)e
αjx� �� αj ∈ C� Qj(x) @ "��
��
� ���"��
�

�� ���� nj � j = 1,m� αj �= αk ��! j �= k� 5��
 U(t, x) !� &����� ����3!��� �����

��6


L

(
∂

∂t
,
∂

∂x

)
U(t, x) = 0,

U(0, x) = 0,
∂U

∂t
(0, x) = ψ(x)
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (,


�2�� "�����  ����!�


U(t, x) = ψ

(
∂

∂ν

)
{eνxT1(t, ν)}

∣∣∣∣
ν=0

,

�� T1(t, ν) = e−a(ν)t
sh

[
t
√

D(ν)
]

√
D(ν)

@ ���
��� ���
��%��- $ ���
�����%��- �����
�

����3!��
� �
��!��! .</� 7 ��������!  
��� U(h, x) ≡ 0 ����2 &
� ����2�
��%
m∑
j=1

Qj

(
∂

∂ν

)
{ eνxT1(h, ν) }

∣∣∣∣
ν=αj

≡ 0.

7���!�� �
�
��
� ������2����
 $ ���
�

eα1x, xeα1x, x2eα1x, . . . , xn1eα1x, . . . , eαmx, xeαmx, x2eαmx, . . . , xnmeαmx

������! ����2�
��% ����� &�%�! ���
 �� ��6� ���
� ���� α1, α2, . . . , αm & � �!
�
$ ���
- T1(h, ν) ���������� �� ��2�� pα1 , pα2 , . . . , pαm � ��
��� ��"����1�% ���
���'
��
 n1 < pα1 � . . . , nm < pαm � 5����
 ��������� �

6����7���� )� 5����
� � ��& �
�� � � ���� ����3!��� �����
 .=/� .�/ ����
"��
'
��
���� ����!� ����!�� �
����
 ��
���
� �"������
� a

(
∂
∂x

)
�� b

(
∂
∂x

)
� !� ��������

������1 �
�%�
��1 ������
�� 8���� 
��2��� ����3!��
� �����
 .=/� .�/ & ������ 6��'
6�1� H- ���
����
� & ����2 ��
2�
 $ ���
����%�
 �!��

U(t, x) =
∞∑
j=1

Qj

(
∂

∂ν

) ⎧⎨
⎩e−a(ν)t+νx

sh
[
t
√
D(ν)

]
√
D(ν)

⎫⎬
⎭
∣∣∣∣∣∣
ν=αj

,

�9J�9

U(t, x) =

∞∑
j=1

Qj

(
∂

∂αj

)⎧⎨
⎩e−a(αj)t+αjx

sh
[
t
√
D(αj)

]
√
D(αj)

⎫⎬
⎭ ,

 !��# αj ∈ M, Qj(x) @ "��
��
� ���"��
� nj ≤ pj − 1� !�
 ����
 1�%  ��� �%���

��
�����!  "����
 ����
 $ ���
� 
��2��� ����
"��
��
��# ����3!��
� .��/�

	��� M<�� :�<�= >
�
�?� <?� �
����� 
: =��������� �9�
<����� � �%�
 " ���

�����!��
� �����
 �
�
#��  �
 ��# Sh� �� h > 0� �����
�  S1� ��! ��������#
�
��!�% 
���
������- $
���� �� ��$�����
��%��'$ ���
����%��# �
��!�%� � ����2
������
� ���
���� -#�
# !���� ������
�� �� ��
 �
 �����
 
�1�% ����
��������

���
!���� ����� �� & ��������
��

������ �������� �

����� �������

∂2U

∂t2
= γ2

∂2U

∂x2
, γ > 0,

U(0, x) = U(h, x) = 0.

.��/

� 7����� .��/ @ �� ������ .=/� .�/�  !�
� a (ν) = 0, b (ν) = −γ2ν2� 5��

D(ν) = γ2ν2� � 
��2��� .��/ ��� �� ����!� 

M =
⋃
k∈N

{ ν ∈ C : γνh = ± πki} .



(-
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I���� νk = ±πki
γh � �� k ∈ N� ��! $ ���
- T1(h, ν) = sh[γνh]

γν & "�����
� � �!
�� 7�
�����
�1 � $ ���
- ����!� 

U±k(t, x) = e±
πkix
γh sin

πkt

h
, k ∈ N,

& �
�
��� ������2��
� ����
"��
��
��
� ��
"������
� ����3!���
� �����
 .��/�
 !��� ������� !��# ��& "�� γ = a ����3!��� .4/�

8�����! $��
 �� 

����% ��� ������ ����3!��
� �����
 .��/A "��6�� @ �
�"�'
�
��& .���#�%�
 / ���� JKL� �� ��� @ �
�"��
��& .��2�%�
 / ���� J@M� 7� ��2�'

�� ��

 ����� �� �� ��"�
���1 ��$�����
��%��'��
���%���� 
���� (�+ �� ��# ���
����������� "���
���� k � U±k(t, x) 
�2�� ����
��� ����3!��� �����
  ����!�


U(t, x) = ϕ(x + t)− ϕ(x − t),

�� ϕ(x) @ ���
�%�� ��
�
 ��"������� ��$�����
����� �� R "��
������ $ ���
! �
"��
���
 T = 2h� ����� ϕ ∈ C2

2h. �
������ ��������  
�!��"#
��
��"	
���[

∂2

∂t2
− γ2

∂2

∂x2
+m2

]
U(t, x) = 0, γ,m > 0,

U(0, x) = U(h, x) = 0.

.)*/

� ��! �
&- �����
 ����
�&
� a (ν) = 0, b (ν) = −γ2ν2 +m2� D(ν) = γ2ν2 −m2�
?��2��� M ��� ��& ����!� 

M =
⋃
k∈N

{
ν ∈ C : h

√
γ2ν2 −m2 = ± πki

}
.

I���� νk = ±
√
m2h2−π2k2

γh � �� k ∈ N� ��! $ ���
- T1(h, ν) =
sh

[
h
√

γ2ν2−m2
]

√
γ2ν2−m2

 

��"��� mh �= πk & "�����
� � �!
�� D��� mh = πk0� �� k0 ∈ N� �� ν = 0 &
���������
 � ��
 $ ���
- T1(h, ν)� 7� �����
�1 � ����2 &
� ��� ���
1 (k ∈ N)
����
"��
��
��# ����3!��
� �����
 .)*/A

�/ U±k(t, x) = e±
√

π2k2−m2h2

γh ix sin πkt
h � !��� πk > mhG

)/ U±k(t, x) = e±
√

m2h2−π2k2

γh x sin πkt
h � !��� πk < mhG

4/ Uk(t, x) = sin
πkt

h
, Uk(t, x) = x sin

πkt

h
� !��� πk = mh�

B���3!��� .4/ ����
 &
� � �
&- ���
- "�� m → 0 �� "���#��
 ��  !���- ��������
�

������ ��
�$��%�� ���������[
∂2

∂t2
+ 2m

∂

∂t
− γ2

∂2

∂x2

]
U(t, x) = 0, γ,m > 0,

U(0, x) = U(h, x) = 0.

.)�/

� 7���� .)�/ �����!��
� !� ����� .=/� .�/ � �
��
� $ ���
!
� a(ν) = m�

b(ν) = −γ2ν2� D(ν) = m2 + ν2γ2� T1(h, ν) = e−mh
sh

[
h
√

m2+ν2γ2
]

√
m2+ν2γ2

�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (.

0 �!
� $ ���
- T1(h, ν) & ����� νk = ±
√
π2k2+m2h2

γh i� �� k ∈ N� 	��� & "�����
��
��
 �� �����
�1 � ���#���
� ����
"��
��
�
 ����3!��� �����
 .)�/

U±k(t, x) = e−mt±
√

π2k2+m2h2

γh ix sin
πkt

h
, k ∈ N.

7  !���- ������� ��# ��
"������# ����3!��
� "�� m → 0 ����
 &
� �
���

����3!��� .4/� �

����&� �������� '��
����[
∂2

∂t2
+

∂2

∂x2

]
U(t, x) = 0,

U(0, x) = U(h, x) = 0.

.))/

� ��! �����
 .))/ ����2 &
� a(ν) = 0, b(ν) = ν2, D(ν) = −ν2, T1(h, ν) = sin[νh]
ν �

I���� νk = ±πk
h � �� k ∈ N� & "�����
� � �!
� $ ���
- T1(h, ν)� 7� �����
�1 �

����3!���
� �����
 .))/ & $ ���
-

U±k(t, x) = e±
πkx
h sin

πkt

h
, k ∈ N.

7� ��2�
�� �� � �
&- ���������- 
��2��� ����3!��
� �����
 .))/ �� ��"�
���1
��$�����
��%��'��
���%���� 
���� 
�2�� ����
��� ����3!��� �
&- �����
  ����!�


U(t, x) = ϕ(ix+ t)− ϕ(ix− t),

�� ϕ(x) @ ���
�%�� ��
�
 ��"������� ��$�����
����� �� R "��
������ $ ���
! �
"��
���
 T = 2h� ����� ϕ ∈ C2

2h. �
����(� �������� ��
��) ���*�
����[

∂2

∂t2
+

∂4

∂x4

]
U(t, x) = 0,

U(0, x) = U(h, x) = 0.

.)4/

� ��! �
&- �����
 ����
�&
� a(ν) = 0� b(ν) = ν4� D(ν) = −ν4� T1(h, ν) = sin[ν2h]
ν2 �

M =
⋃
k∈N

{
ν ∈ C : ν2h = ± πk

}
.

I���� νk = ±
√

πk
h � νk = ±i

√
πk
h � �� k ∈ N� "����
 � �
 $ ���
- T1(h, ν)� N � &
�

���
1 (k ∈ N) ����
"��
��
��# ����3!��
� �����
 .)4/ �
�"��
��� �� �����
� �

U±1k(t, x) = e±x
√

πk
h sin πkt

h ,

U±2k(t, x) = e±ix
√

πk
h sin πkt

h . �
B����!��
� ����� � ����1 �����
��1 � �! $ ���
- T1(h, ν)�

����
�� �� B���3!����  �
 �
 S1 ����� �
�
#��[
∂2

∂t2
+ 2

∂3

∂t∂x2
+ 4π2

]
U(t, x) = 0,

U(0, x) = U(1, x) = 0.

.)=/



(/
��������� �	
���� 
������ ��������

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

� ��! �
&- �����
 ����
�&
� a(ν) = ν2, b(ν) = 4π2, h = 1, D(ν) = ν4 − 4π2�
T1(1, ν) = e−ν2 sh

√
ν4−4π2√

ν4−4π2
� M =

⋃
k∈N

{
ν ∈ C : ν4 − 4π2 = −π2k2

}
�

,������
� �����
 �
��!��! ν4 − 4π2 = −π2k2A ν11± ��! k = 1G ν2 ��! k = 2G
νk1±, νk2± ��! k ≥ 3� I���� ν2 = 0 
�& �����
��% =� 5�
 ��! ν2 �� �����
�1 �
���#���
� ������
��%�
 ����
"��
��
�
 ����3!��� �����
 .)=/

U21(t, x) = 2π {T1(t, ν)eνx}
∣∣∣
ν=0

= sin [2πt];

U22(t, x) = 2π
∂

∂ν
{T1(t, ν)eνx}

∣∣∣∣
ν=0

= x sin [2πt];

U23(t, x) = 2π
∂2

∂ν2
{T1(t, ν)eνx}

∣∣∣∣
ν=0

=
(
x2 − 2t

)
sin [2πt];

U24(t, x) = 2π
∂3

∂ν3
{T1(t, ν)eνx}

∣∣∣∣
ν=0

=
(
x3 − 6tx

)
sin [2πt].

��! � �
� ν11± = ± 4
√
3π2 ����2 &
� ���
 ����3!��� �����
 .)=/A

U11±(t, x) = e−π
√
3 t± 4√

3π2x sin [πt] .

��! � �
� ν12± = ±i 4
√
3π2 ����2 &
�

U12±(t, x) = eπ
√
3 t±i

4√
3π2x sin [πt] .

��! �����
� νk1± = ±
√
2
2 (1 ∓ i) 4

√
π2(k2 − 4)� �� k ∈ N\{1; 2}� ����
�&
� ���


����3!��� �����
 .)=/A

Uk1±(t, x) = sin [πkt] e±πi
√
k2−4 t±

√
2

2 (1∓ i) 4
√

π2(k2−4)x.

��! 
�6�# �����
� νk2± = ±
√
2
2 (1 ± i) 4

√
π2(k2 − 4)� �� k ∈ N\{1; 2}� ����2 &
�

�� ���
 ����3!��� �����
 .)=/A

Uk2±(t, x) = sin [πkt] e±πi
√
k2−4 t±

√
2

2 (1± i) 4
√

π2(k2−4)x. �

B����!��
� "������ �����
 �
�
#�� ��! ��$�����
��%��# �
��!�% ����
������'
�� "��!�� �

����
�� &� B���3!���� ����� �
�
#��  �
 �
 S1 ��! ��$�����
��%��'$ ���
�'
���%���� �
��!��!

∂2U(t, x)

∂t2
= U(t, x+ 1)− 10U(t, x),

U(0, x) = U(1, x) = 0 .

.)�/

� ��$�����
��%��'$ ���
����%�� �
��!��! "���
�  ����!�
 ������ ��$����'
�
��%���� �
��!��! ����
�������� "��!�� [

∂2

∂t2
− e

∂
∂x + 10

]
U(t, x) = 0.
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� (0

5��
 .)�/ & ������1 .=/� .�/�  !�
� a(ν) = 0, b(ν) = −eν + 10� D(ν) = eν − 10�
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